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1.Refer to the exhibit. 

 
A network engineer notices packet drops on FCoE traffic from the servers. 
Which action resolves the issue? 
A. Apply flowcontrol receive on the interface. 
B. Apply flowcontrol transmit on the interface. 
C. Enable priority flow control on the interface. 
D. Disable priority flow control on the interface. 
Answer: C 
 
2.A system administrator adds two vNICs to an existing service profile that is used to run a vSphere 
environment to support disjoint Layer 2 network connectivity. However, after the server is rebooted, the 
host is not accessible on the network. 
Which action resolves the issue? 
A. Remove all existing vNICs and add them in the desired order. 
B. Build a new service profile with the desired network configuration 
C. Add the disjoint Layer 2 VLANs to an existing vNIC rather than adding new vNICs 
D. Create a vNIC placement policy to avoid adapter renumbering 
Answer: C 
Explanation: 
Reference: https://www.cisco.com/c/en/us/support/docs/hyperconverged-infrastructure/hyperflex-hx-
data-platform/213665-troubleshoot-hx-nodes-pci-address-reorde.html 
 
3.Refer to the exhibit. 
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An engineer deploys SAN environment with two interconnected Cisco MDS 9000 Series switches. When 
the engineer attempts a zone merge, it fails with the error that is presented in the exhibit. 
Which action resolves the issue? 
A. Import or export a zone set between the switches to synchronize the switches. 
B. Change the name of one of the zones to match the other zone set. 
C. Set the distribute policy of the zone to full. 
D. Ensure that the zone members have different names. 
Answer: B 
Explanation: 
https://www.cisco.com/en/US/docs/storage/san_switches/mds9000/sw/rel_3_x/troubleshooting/guide/ts_
guide.pdf 

 
 
4.Refer to the exhibit. 

 
The connection between a Cisco Nexus 5548UP switch and a Cisco MDS switch fails to initialize. 
What is the cause of the issue? 
A. VSAN 1 is suspended. 
B. The SFP is unsupported. 
C. Trunk mode must be activated. 
D. The interface is in an incorrect mode. 
Answer: A 
 
5.Refer to an exhibit. 
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An engineer is troubleshooting an upgrade failure on a switch. 
Which action resolves the issue? 
A. Save the system image in NVRAM. 
B. Use the same system image as the kickstart image. 
C. Load a new system image. 
D. Reload the same system image. 
Answer: B 
 
 


